Monday  March  7                   Name ________________
 	Check your work!			
	1. Complete the pattern
 
47.9 ÷ 1 =                                                                  106 ÷ 100 =      

47.9 ÷ 10 =                                                                106 ÷ 101 =

47.9 ÷ 100 =                                                              106 ÷ 102 =

47.9 ÷ 1,000 =                                                           106 ÷ 103 =

	2. Divide. Use base-ten blocks.  

6.48 ÷ 4 =                                                                                       9.45 ÷ 5 =









	3.  Estimate the Quotient

256.1 ÷ 82 =                                                                             209.3 ÷ 48 =










	4. A team of 4 people particapted in a 400-yard relay race. Each team member runs the same distance. The team completes the race in a total of 53.2 seconds. What is the average running time for each person? 








(*Do not forget your Target Sentence!)


	5. Find the product of 0.07 and 0.4                                                             Divide 9,660 ÷ 92 =








Tuesday  March  8
	1. Complete the pattern
 
175 ÷ 1 =                                                                  14.6 ÷ 100 =      

175÷ 10 =                                                                 14.6 ÷ 101 =

175÷ 100 =                                                               14.6 ÷ 102 =

175÷ 1,000 =                                                            14.6 ÷ 103 =

	 2. Divide. Use base-ten blocks.  

4.9 ÷ 7 =                                                                                       3.6 ÷ 9 =










	3. Use decimal models.   
2.8 ÷ 0.7 =                                                                               1.62 ÷ 0.27 =










	4. Diego buys 6 tickets to the basketball game. He pays $8.50 for parking. His total cost is $40.54. What is the cost of each ticket?



(*Do not forget your Target Sentence!)


	5. Divide with the Algorithm
61.2 ÷ 9 =                                                                                    83.3 ÷ 17 =






Wednesday  March  9
	1. Complete the pattern
 
99.53 ÷ 1 =                                                                  123 ÷ 100 =      

99.53 ÷ 10 =                                                                 123 ÷ 101 =

99.53 ÷ 100 =                                                               123 ÷ 102 =

99.53 ÷ 1,000 =                                                            123 ÷ 103 =

	 2. Divide. Use base-ten blocks.  

[bookmark: _GoBack]8.52 ÷ 4 =                                                                                       3.78 ÷ 3 =










	3. Use decimal models.   
0.40 ÷ 0.05 =                                                                               0.45 ÷ 0.05 =










	4. Theresa pays $9.56 for 4 pounds of tomatoes. What is the cost of 1 pound of tomatoes?



(*Do not forget your Target Sentence!)


	5. Divide with the Algorithm
12.24 ÷ 0.34 =                                                                                    10.81 ÷ 2.3 =







Thursday  March  10
	1. Complete the pattern
 
140 ÷ 1 =                                                                  27.8 ÷ 100 =      

140 ÷ 10 =                                                                27.8 ÷ 101 =

140 ÷ 100 =                                                               27.8  ÷ 102 =

140 ÷ 1,000 =                                                            27.8  ÷ 103 =

	 2. Divide. Use base-ten blocks.  

1.5 ÷ 5 =                                                                                       3.69 ÷ 3 =










	3. Use decimal models.   
0.56 ÷ 0.08 =                                                                               1.6 ÷ 0.4 =










	4. Robert wrote the division problem below. What is the quotient?
83.2 ÷ 13 =


(*Do not forget your Target Sentence!)


	5. Divide with the Algorithm
7.8 ÷ 15 =                                                                                    52.2 ÷ 12 =








